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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What is the importance of National Income in an 

economy ? What are the methods to measure National 

Income ? 

jk”Vªh; vk; dk vFkZO;oLFkk esa D;k egRo gS \ mlds ekiu 

dh dkSu&dkSu lh fof/k;k¡ viuk;h tkrh gSa \ 

2. What is Multiplier ? While discussing the working of 

multiplier, explain its leakages. 

xq.kd D;k gS \ xq.kd dh fØ;k’khyrk dks Li”V djrs gq, 

mlds fjlko dks Li”V dhft,A 

3. What do you understand by Macro Economics ? 

Discuss the importance and limitations of Macro 

Economics. 

lef”V vFkZ’kkL= ls vki D;k le>rs gSa \ lef”V vFkZ’kkL= 

ds egRo o lhekvksa dh foospuk dhft,A 

4. ―Trade cycle is a purely monetary phenomenon.‖  

     —Hawtrey 

Do you agree with this view ? 

ßO;kikj pØ ,d iw.kZr% ekSfnzd ?kVuk gSAÞ  &gkVªs 

D;k vki bl fopkj ls lger gSa \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 



 [ 3 ]  BAEC–201/EC–03 

A-44 P. T. O. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four of the following. 

fuEufyf[kr esa ls fdUgha pkj ij la{ksi esa ppkZ dhft,A 

1. Distinguish between gross domestic product and net 

domestic product. 

ldy ?kjsyw mRikn rFkk ‘kq) ?kjsyw mRikn esa vUrj crkb,A 

2. Explain the Law of Market by J. B. Say. 

ts- ch- ls ds cktkj fl)kUr dks le>kb,A 

3. Write a short note on consumption function. 

miHkksx Qyu ij ,d laf{kIr fVIi.kh fyf[k,A 

4. Distinguish between average propensity to consume 

and marginal propensity to consume. 

vkSlr miHkksx izo`fŸk rFkk lhekUr miHkksx izo`fŸk esa Hksn 

dhft,A 

5. What do you understand by ‗Accelerator‘ ? 

^Rojd* ls vki D;k le>rs gSa \ 

6. Distinguish between ‗Time preference‘ and ‗Liquidity 

preference‘ with reference to the determination of 

interest rate.  

C;kt nj ds fu/kkZj.k ds lUnHkZ esa ^le; vf/keku* rFkk 

^rjyrk vf/keku* esa Hksn Li”V dhft,A 
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7. What is Economic Development ? 

vkfFkZd fodkl fdls dgrs gSa \ 

8. What are the main elements of Harrod model ? 

gSjksM izk:i ds izeq[k rRo D;k gaS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate the correct answer option in the following. 

fuEufyf[kr iz’uksa esa lgh mŸkj fodYi fpfUgr dhft,A 

1. Gross National Product (GNP) is equal to : 

(a) NNP minus Foreign Aid 

(b) NNP plus Depreciation 

(c) NNP minus Total Taxes 

(d) NNP minus Indirect Taxes 

ldy jk”Vªh; mRikn ¼th- ,u- ih-½ cjkcj gksrk gS % 

¼v½ ,u- ,u- ih- & fons’kh lgk;rk 

¼c½ ,u ,u- ih- $ ewY; kl 

¼l½ ,u- ,u- ih- & dqy dj 

¼n½ ,u- ,u- ih- & vizR;{k dj 
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2. Which is not a kind of macro economic analysis ? 

(a) Macro Static 

(b) Comparative Macro Static 

(c) Macro Dynamic 

(d) Micro Economic analysis 

lef”V vFkZ’kkL= ds v/;;u dk izdkj dkSu lk ugha gS \ 

¼v½ lef”V LFkSfrd 

¼c½ rqyukRed lef”V LFkSfrd  

¼l½ lef”V izkoSfxd 

¼n½ lw{e vkfFkZd fo’ys”k.k 

3. If a linear consumption function passes though the 

origin it means : 

(a) APC > MPC 

(b) APC < MPC 

(c) APC = MPC 

(d) APC = MPC = 0 

jSf[kd miHkksx Qyu ewy fcUnq ls xqtjsxk tc % 

¼v½ APC > MPC 

¼c½ APC < MPC 

¼l½ APC = MPC 

¼n½ APC = MPC = 0 

4. ―Supply creates its own demand.‖ This statement is of :  

(a) Marshall 
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(b) Ricardo 

(c) J. B. Say 

(d) Adam Smith 

ßiwfrZ viuh ek¡x Lo;a iSnk djrh gSAÞ ;g dFku gS % 

¼v½ ek’kZy dk 

¼c½ fjdkMksZ dk 

¼l½ ts- ch- ls dk 

¼n½ ,Me fLeFk dk 

5. Which of the following relationships correctly 

represents the acceleration principles as defined by 

Paul A. Samuelson ? 

(a) 1I Yut t   

(b) 1I C Cut t t   

(c) 1I Y Yut t t   

(d) 1 2I C Cut t t   

fuEufyf[kr esa ls dkSu lk lEcU/k ikWy ,- lSE;qylu }kjk 

ifjHkkf”kr Rojd fl)kUr dks lgh :i esa O;ä djrk gS \ 

¼v½ 1I Yut t  

¼c½ 1I C Cut t t  

¼l½ 1I Y Yut t t  

¼n½ 1 2I C Cut t t  
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6. Macro Economics distinguished between the real 

economy and : 

(a) virtual economy 

(b) monetary economy 

(c) normative economy 

(d) underground economy 

lef”V vFkZ’kkL= okLrfod vFkZ’kkL= vkSj fdlds chp Hksn 

djrk gS \ 

¼v½ ifjdfYir vFkZO;oLFkk 

¼c½ ekSfnzd vFkZO;oLFkk 

¼l½ fu;ked vFkZO;oLFkk 

¼n½ var%HkkSfed vFkZO;oLFkk 

7. Who is the author of book ―General Theory of 

Employment, Interest and Money‖ ? 

(a) J. B. Say 

(b) Dalton 

(c) J. M. Keynes 

(d) Robbins 

ßtujy F;ksjh vkWQ ,EIykW;esUV] bUVjsLV ,.M euhÞ iqLrd 

ds ys[kd dkSu gSa \ 

¼v½ ts- ch- ls 

¼c½ MkYVu 

¼l½ ts- ,e- dhUl 

¼n½ jkWfcUl 
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8. Innovation theory of Trade Cycle is propounded by : 

(a) Schumpeter 

(b) Marshall 

(c) J. K. Mehta 

(d) Robinson 

O;kikj pØ ds uoizorZu fl)kUr dk izfriknu fd;k % 

¼v½ ‘kqEihVj us 

¼c½ ek’kZy us 

¼l½ ts- ds- esgrk us 

¼n½ jkWfcUlu us 

9. According to Keynes, the investment is : 

(a) Autonomous investment 

(b) Induced Investment 

(c) Both of the above 

(d) None of the above 

dhUl ds vuqlkj fofu;ksx ls vfHkizk; gS % 

¼v½ Lok;Ÿk fofu;ksx 

¼c½ izsfjr fofu;ksx 

¼l½ mi;qZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

10. Economic development is related to : 

(a) Continuous process 

(b) Long-term process 

(c) Continuous and long-term process 

(d) None of the above 

vkfFkZd fodkl dk lEcU/k gS % 

¼v½ lrr~ izfØ;k ls 

¼c½ nh?kZdkfyd izfØ;k ls 

¼l½ lrr~ ,oa nh?kZdkfyd izfØ;k ls 

¼n½ mi;qZDr esa ls dksbZ ugha 

BAEC–201/EC–03  870


